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I Series BRH I 

ilc1 ;f, 
Roll No. 

em- ;f. 30/1 
Code No. 

tRtarrcil c5rs q5) :FR-~RtiCbl <)) ~-TO 
q{ ~fcf& I 
Candidates must write the Code on 

the title page of the answer-book. 

• ~ ~ Cfi\ #f ~ ~ ~-~ if ~ lfO 16 % I 
• ~-~if~~ eft am~ 1111: ~~cit rn:f 31R-~ it ~-"TO 11\ ~ 
• ~ ~ Cfi\ B f4i ~ ~-~ "G' 34 ~ ~ I 

• ~ ~ qrr ~ R-10"11 ~ m -R ~~ ~ qrr ~ ~ ~ 1 

• ~ ~-~ cit ~ if; ~ 15 fiRe CfiT ~ R!n TfliT ~ I ~-~ CfiT fcRRuT ~ if 

10.15 ~ fc!:i!rr ~ I 10.15 ~ it 10.30 ~ (lqi ~ ~ "517f.1-~ cit ~ afu: 
W -wiT~ if; ~ ~ 31R-~ 11\ ~ 3rR ~ ~ I 

• Please check that this question paper contains 16 printed pages. 
• Code number given on the right hand side of the question paper should be 

written on the title page of the answer-book by the candidate. 
• Please check that this question paper contains 34 questions. 
• Please write down the Serial Number of the question before 

attempting it. 
• 15 minutes time has been allotted to read this question paper. The question 

paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the 
students will read the question paper only and will not write any answer 
on the answer-book during this period. 

'ti (f) ffi=l d ~all - II 

SUMMATIVE ASSESSMENT - II 

Jlfillct 

MATHEMATICS 
3ff~ 3iCfl: 80 

Time allowed : 3 hours Maximum Marks : 80 
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(ii) 

(iii) 

(iv) 

(v) 

~ JTR-w if 34 J!H r· .w qp: ~ - 31; ~ "fr aik c:: if ~ ~ 1 

?ffu:s 31 if ~-~ :W!i Cfl"ff 10 J!H #~ >if ~- f¥11 c4J J!H ~ I (<JU5 iif if 
8 JfH ~- ~ it ~ 2 :Wfi CliT ~ I ?ffu:s "fr if 10 JfH rfR- rfR atcif ij; 
f I ?ffu:s G: if 6 JfH ~ ~ it ~ 4 Jic!i CliT ~ I 

"ififf J!N-W if cift ~ ~- # I "llElffr 2 :Wfi Cfl"ff f(Cfi JfH if, 3 3WJ Cfl"ff 
v 

ift;r J/T-if if ~ 4 :Wfi Cfl"ff ~ J/T-if if ~ fcrci;c;q" f?:rl: 1JTJ: ~- I 

c~; ey &2 ~ w m crf§m r 1 

General Instructions : 

(i) All questions are compulsory. 

(ii) The question paper consists of 34 questions divided into four 
sections- A, B, C and D. 

(iii) Section A contains 10 questions of 1 mark each, which are 
multiple choice type questions, Section B contains 8 questions of 
2 marks each, Section C contains 10 questions of 3 marks each 
and Section D contains 6 questions of 4 marks each. 

(iv) There is no overall choice in the paper. However, internal choice is 
provided in one question of 2 marks, three questions of 3 marks 
and two questions of 4 marks. 

(v) Use of calculators is not permitted. 

~3l 

SECTION A 

JfH if?§llr 1 it 10 "ffEli ~ J!H 1 :Wfi <fJ ~ I JiN ifw-lr 1 if 10 if ~ JTR it 
~ rm fcrc1;c;q" RY: rro: ~ ~ it iFrfr f!!!1 ~ ~ 1 ~ fcrc1;c;q" ~ r 

Question numbers 1 to 10 carry 1 mark each. For each of the questions 
number 1 to 10, four alternative choices have been provided, of which only 
one is correct. Select the correct choice. 

(A) -2, 3/2 

(B) 2,-3/2 

(C) -2,-3/2 

(D) 2, 3/2 
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The roots of the quadratic equation 2x2 
- x - 6 = 0 are 

(A) -2, 3/2 

(B) 2,-3/2 

(C) -2,-3/2 

(D) 2, 3/2 

2. ~ ~ ~ ~ qj]" noJ 1l'G: (2n + 1) ~' 'ffi ~ ~ 'ffi';f ~ qj]" lJllllhM ~ 

(A) 6n + 3 

(B) 15 

(C) 12 

(D) 21 

If the nth tenn of an A.P. is (2n + 1), then the sum of its first three 
terms is 

(A) 6n + 3 

(B) 15 

(C) 12 

(D) 21 

3. ~ <rn ~ ~ it 13 itifi ~ lR Wffi ~ ~ Q it <rn lR ~ 'Ji ~ W:T PQ 
<8 ~ 12 itifi W I ¥ <8 ~ (itifi ~) W 

30!1 

(A) 25 

(B) .J313 

(C) 5 

(D) 1 

From a point Q, 13 em away from the centre of a circle, the length 
of tangent PQ_ to the circle is 12 em. The radius of the circle (in em) 
lS 

(A) 25 

(B) .J313 

(C) 5 

(D) 1 

3 P.T.O. 
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4. ~ 1 if, AP, AQ ~ BC Tf ctt ~ mnt ~- t 71ft:: AB :=: 5 Mt, AC = 6 Wit 
~~ BC :=: 4 "@n ~, m AP ctt ~(Wit it) t 

30/1 

A 

~1 
(A) 7·5 

(B) 15 

(C) 10 

(D) 9 

In Figure 1, AP, AQ and BC are tangents to the circle. If AB = 5 em, 
AC = 6 em and BC = 4 em, then the length of AP (in em) is 

A 

Figure 1 

(A) 7·5 

(B) 15 

(C) 10 

(D) 9 
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(A) 

(B) 

(C) 

(D) 

77 
2 

77 
4 

77 
8 

77 
16 

The circumference of a circle is 22 em. The area of its quadrant (in cm2) 

lS 

(A) 

(B) 

(C) 

77 
2 

77 
4 

77 
8 

. 77 
(D) 16 

6. ~ ihl ~ ~ ~ ~ ~ ~ t C4'hi'iiift:q ~ ~ ~~ ~ ~ aW:m ~ 
wffiR ~ <R1 ~ ~ ~ ~ q)JGJ l1GIT ~ I ~ WfiR ~ -ffil ~ ~ 3W«'R qrr ~ 
~~3WRR-a~~ 

30/1 

(A) 1 : 2 

(B) 1 : 4 

(C) 1 : 6 

(D) 1 : 8 

A solid right circular cone is cut into two parts at the midd~e of its 
height by a plane parallel to its base. The ratio of the volume of the 
smaller cone to the whole cone is 

(A) 1 : 2 

(B) 1:4 

(C) 1 : 6 

(D) 1 : 8 
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7. T% W1 ~ it 3o m-. q:J ~ ~ 6o m-. ~ m q:J t:l~t4m it a:? wr ~ 1 ~ 
l1r.ffi St:; fcfi irU .q ;itt itR ~ t 'Cffirr Cfif ~ ~ ~ ctrrrr ~ 

8. 

30/1 

(A) 45° 

(B) 30° 

(C) 600 

(D) goo 

A kite is flying at a height of 30 m from the ground. The length of string 

from the kite to the ground is 60 m. Assuming that there is no slack in the 

string, the angle of elevation of the kite at the ground is 

(A) 45° 

(B) 30° 

(C) 60° 

(D) goo 

~ (-3, 4) Chl X-~ it~~ 

(A) 3 

(B) -3 

(C) 4 

(D) 5 

The distance of the point (- 3, 4) from the x-axis is 

(A) 3 

(B) -3 

(C) 4 

(D) 5 

6 
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9. ~ 2 if, ~ P(5, - 3) ~ Q(3, y), ~'* A(7, - 2) "R2ff B(l, - 5) c€i fi:R1"R 
crrR {@@us c€i ~ ~ ~ I ciT y ~ ~ 

A P Q B 

~2 

A 2 

B 4 

I C. -4 

:DJ 
5 --
2 

In Figure 2, P(5, - 3) and Q(3, y) are the points of trisection of the 
line segment joining A(7, - 2) and B(l, - 5). Then y equals 

A p Q B 

Figure 2 

(A) 2 

(B) 4 

(C) -4 

(D) 5 
--

2 

10. l!:<fi ~ * ~ ~ m 11\ 2, 3, 4, ... , u rt&mt ~ ~ 1 ~ * it lll~'tt§~l l!:<fi <fiTi 
f.:rqjy"ffi lJ1IT i 1 ~ ~ ~ 11\ l!:Cfl ~ ~ m;t q:;r snfl1Cfli'11 ~ 

(A) 
1 
-

2 

(B) 
2 
-
5 

(C) 
3 
10 

(D) 5 
-

9 
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Cards bearing numbers 2, 3, 4, ... , 11 are kept in a bag. A card is 
drawn at random from the bag. The probability of getting a card with 
a prime number is 

(A) 1 
-

2 

(B) 
2 

5 

(C) 
3 

-

10 

(D) 
5 

9 
~~ 

SECTION B 

JfR #w:rr 11 # 18 rrCfi ~ JfR it 2 3jq; ~ I 

Question numbers 11 to 18 carry 2 marks each. 

11. p qjf qw l1R ".WCf ~ ~ ft.;nz: '84l"h{DI px (x- 2) + 6 = 0 $ ~ m ~ I 

Find the value of p for which the roots of the equation 
px (x- 2) + 6 = 0, are equal. 

12. G) ~ qrffi fcRr;:IT ~ 3 -it ~ % ? 

How many two-digit numbers are divisible by 3 ? 

13. ~ 3 ~~ ~ '811$1o1 ~ ABC, r ~ ~ ¥ $ -qft-1-ffi ~ t I "* AB nm 
BC ~ i1~1$lll ~ 8 irfr (1~ 6 irfr t -ffi r qjf 11R ".WCJ ~ 

A 

c 
~3 

30!1 B 
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In Figure 3, a right triangle ABC, circumscribes a circle of radius r. 
If AB and BC are of lengths 8 em and 6 em respectively, find the 
value of r. 

A 

c 
Figure 3 

Prove that the tangents drawn at the ends of a diameter of a circle 
are parallel. 

15. ~ 4 'ij, ABCD, 4 in:ft :piT <:ITffi ~ qrf t I Cf1f it ~ m lR 1 in:ft ~ 
it ¥ Cfil ilT"Jhl ~ TT1IT, (liQT 2 in:ft "5!:fl'B CfiT ~ ¥ ~ ~ TT1IT ~ I Glllifq;d 

'qfTf Cfil ~ ~ ~ I (rt = 3·14 ~) 

30/1 

~4 
3l21Cff 

~ cn1 3'11l\d1Cfll'l ~ cn1 ~ 'We ABCD, f;J:rAA AB = 40 WIT (l~ AD= 28 in:ft 
~' 1l B BC <hT ~ ~ ~ ~ 'qfTf q}g fum ~ ~ I -ffl ~ ~ Cfil 

~ ~ ~ I (rt = 22 ~) 
7 
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In Figure 4, ABCD is a square of side 4 em. A quadrant of a circle of 
radius 1 em is drawn at each vertex of the square and a circle of diameter 
2 em is also drawn. Find the area of the shaded region. (Use n: = 3·14) 

D C . 

Figure 4 
OR 

From a rectangular sheet of paper ABCD with AB = 40 em and 
AD = 28 em, a semi-circular portion with BC as diameter is cut off. Find 

the area of the remaining paper. (Use n = 
22 

) 
7 

16. 10·5 Wft ~ ~ ~ csm ~ q;f fireR1T ~ -rnz csrn ~ ~ ~. ~ ~ 
<tf ·~ 3·5 Wft o~ ~ 3 Wft t I ~ >fCflR cH ~an <tf ~ ~ ~ I 

(rt = 22 ~) 
7 

A solid sphere of radius 10·5 em is melted and recast into smaller solid 
cones, each of radius 3·5 em and height 3 em. Find the number of cones 

22 
so formed. (Use n = -) 

7 

17. ~ ~ P(2, 4), ~3TI A(5, k) a~ B(k, 7) ~ ~ ~ lR ~. m k ChT lfR ~ 
~I 
Find the value of k, if the point P(2, 4) is equidistant from the points 
A(5, k) and B(k, 7). 

18. 52 -creT ctT ~ m ~ w 71{ C1m <tt ~ ~ -q ~ 41ii~41 ~ 1:ffiT ~ 
,-c:rr 1 suft:~<:t>dl ~ ~ fcfi f.:!qm:;r ,-c:rr 1:ffiT 

(i) ~ 'tTT ChT qll!:~ll~ ~ I 

(ii) ~ W!11 -31~ ~ ~ 
A card is drawn at random from a well-shuffled pack of 52 cards. Find the 
probability of getting 
(i) a red king. 
(ii) a queen or a jack. 

30/1 10 
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~lf 

SECTION C 

JfR rk§ln 19 "" 28 nq; wW JfR it 3 3fr6 I I 
Question numbers 19 to 28 carry 3 marks each. 

19. R""'lf(."tf@d Wmr f!tiiCflJ Ol ir X ~ ~ "ffl ~ : 

x2 
- 4ax - b2 + 4a2 = 0 

~ 

"lJR ~ ~ .:..~ 3lf CiiT ~ll\fi(1 8 om ~UH4J(1 15 ~, ol ~ -mo ~ I 
Solve the following quadratic equation for x : 

x2
- -!ax - b2 + 4a2 = 0 

OR 

If the sum of two natural numbers is 8 and their product is 15, find 
the numbers. 

20. 500 iR 900 ~ ~ ~ 7 ~ ~ ~ CiiT l(jiiCfiH -mo ~ I 
Find the sum of all multiples of 7 lying between 500 and 900. 

21. ~ ~ ABC ~ ~ '!PIT BC = 7 ~~ L B = 45° ~ L C = 60° ~ I m 
~ ~ ~ q,1 \"CRT ~ ~ ~ jj. ABC q,1 Wm ~an CiiT 

3 ~ "@ I 
5 

Draw a triangle ABC with BC = 7 em, L B = 45° and L C = 60°. 

Then construct another triangle, whose sides are ~ times the 
5 

corresponding sides of 6 ABC. 

22. ~ 5 -q, 6 PQR, ~ PQ = 10 WIT, QR = 8 ~ om PR = 12 Wft t, ~ 
3tfrfo ~ ~ ~ 1']<:fJ ~ I QM, RN q2fr PL ctt l:'iii11~4i ~ ~ I 

p 

30/ 1 11 P.T.O. 
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In Figure 5, a circle is inscribed in a triangle PQR with PQ = 10 em, 
QR = 8 em and PR = 12 em. Find the lengths QM, RN and PL. 

p 

Figure 5 

23. ~ 6 ~. 0 ~ CfiT ~ ~ ~ AC = 24 ~~ AB = 7 WIT o~ L BOD = 90° 
t I 01lfifq}ct aft CfiT ~ ~ ~ I [7t = 3·14 ~ . 

30/ 1 

--.-rrrn--,__A 

3l~ 

~ 7 ~. ~ ABCD ~ Cflf t ~ ~ 14 ~ ~ ~ APD 3ffi BPC ~ 
3l~ t m 01llifq;('f $ q;r ~ ~ ~ 1 

A B 

31Tffrr 7 . 

. 12 
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In Figure 6, 0 is the centre of the circle with AC = 24 em, AB = 7 em 
and L BOD = 90°. Find the area of the shaded region. 
[Use x = 3·14) 

Figure 6 

OR 

In Figure 7, find the area of the shaded region, if ABCD is a square 
of side 14 em and APD and BPC are semicircles. 

Figure 7 

24. 9 Wfi ~ ~ CITffi ~ aNJflC11Cfll< ~' 1:JRt ~ 'lRf ~ I ~ 1:JRt "Cfl) 6 Wft 
~ ~ ~ ~ ~1'!1"'11Cfll< ~ ~ srm ~ 1 ~1'!1"'11Cfll\ ~ ~ 1:JRt ct>1 ~ ~ 
~I 

30/ 1 

A hemispherical bowl of internal radius 9 em is full of water. Its 
contents are emptied in a cylindrical vessel of internal radius 6 em. 
Find the height of water in the cylindrical vessel. 

13 P.T.O. 
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--· 

25. 60../3 lit. ~ ~ ~ttl"~~~ lfRR ~ ~ cri!IT -crre: ~ 31CRlR ~ 
~ 45° 31tt 60° ~ I H ttl" ~ ~ ~ I 

The angles of depression of the top and bottom of a tower as seen 

from the top of a 60 J3 m high cliff are 45°. and 60° respectively. 
Find the height ·of the tower. 

26. ~~ A(- 2,- 2) cr~ BC2, - 4) ~ firnR qffi {@<§Us 11l: ~ ~ ~ P ~ H~~liCfl 

~~~~AP= 3 ABml 
7 

J:I"WCI'T 

3tr ~ ABCD cnr ~ ~ ~ ~ m A(- 3, -1), B(- 2, - 4), 
C(4, - 1) tii!IT D(3, 4) ~ I 

Find the coordinates of a point P, which lies on the line segment 
3 joining the points A(- 2, - 2) and B(2, - 4) such that AP = - AB. 

OR 

Find the area of the quadrilateral ABCD whose vertices are 
A(- 3, - 1), B(- 2, - 4), C(4, - 1) and D(3, 4). 

7 

27. * ~ A(x, y), B(3, 6) ~ _C(- 3, 4) ~ ~. -m ~ ~ x- 3y + 15 = 0. 

If the points A(x, y), B(3, 6) and C(- 3, 4) are collinear, show that 
X- 3y + 15 = 0. 

28. 52 -crnl ttl" ~ ttl" ~ 71W -q ~ W atiC:~II~, ir"f1l oi!IT ~ ~ ~ ~ I ffl ~ 
"tffir q;) ~ >rCflR ~ ~ ~ m: ~ ~ -qm ~ ~ 1 S!lf4Cfldl ~ ~ ftli 
f..rcnrffi ~ l:fflT 

(i) 

(ii) 

All kings, queens and aces are removed from a pack of 52 cards. The 
remaining cards are well shuffled and- then a card is drawn from it. 
Find the probability that the drawn card is 

(i) a black face card. 

(ii) a red card. 

30/1 14 
.. 

evid
ya

rth
i.in

Educational Material Downloaded from http://www.evidyarthi.in/ 
Get CBSE Notes, Video Tutorials, Test Papers & Sample Papers



~i!; 

SECTION D 

Question numbers 29 to 34 carry 4 marks each . 

. 29. · ~ r~ q;r aro-~ ~ -B 3 q)11 ~ 1 ~ N?r ~ ~ if 1 ~ ~ ~~ m r~ CfiT 

l1"H _!_Cfillm~~ 1fmf~~ 1 
15 

31~ 

2800 1%1ft <it ~ 11m if, ~ m if; ~ ~ ~ ctt lTffi CfilT ~ ~ 11"{ I 

~ 3:fhm 7ffiT 100 ~ -srfff tkT em ~ 1:R ~ CfiT ~ 30 ~ ~ ~ 
~ 1~71ffiq;f~~~~l 

The numerator of a fraction ·is 3 less than its denominator. If 1 is 

added to the denominator, the fraction is decreased by _!_. Find the 
15 

fraction. 

OR 

In a flight of 2800 km, an aircraft was slowed down due to bad 
weather. Its average speed is reduced by 100 kmlh and time 
increased by 30 minutes. Find the original duration of the flight. 

30. 3'"fr ~ ~ ~ met a:RR ~ ~ ~ >l2111 ~ 5 ~ d?.il ~ >l2l11 ~ ~ ~ 
41 11lfl(1, ~ "'t:IR ~ ~ ~3 1lflfl CliT 3W:TT ~ I 

Find the common difference of an A.P. whose first term is 5 and the 
sum of its first four terms is half the sum of the next four terms. 

31. ft:r.s: ~ f% ~ ~ 1%-m ~ ~ -B ~ 1:R fi Tf{ . ~ "t®a# ctt (9CS!I~4i m 
~~ I 

30/ 1 

Prove that the length of tangents drawn from an external point to a 
circle are equal. 
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32. ~ 3=f~lTJ~I<:tll\ ~ ~ ~ 'lRf t, ~ "qr.ff ~ 11Wf &ro 
2

5 ~ ~ if9ius q;'t 
7 

~ * "&Tffi ~ ~ wr ~ 1 ~ ~ ~ ~ ~ t€r 31T'tTT "&Tffi m if fcfKr;:rr w:r:r 
~, "llfc:: ~ it 31fm{ Clir '&ffi1 3 +fl. ~ I 

3l~ 

~ cfr.=t <m1T ~ ~ 14 it+fl ~ crrR ~ ~ it ~ it 3MiR q)f ~ I ~ 
~ ~ fuU it O!ffi1 4 it+fl 31R 2 itJ:ft ~ I ~ f1rc;:rm q;'t trTfun ~ ~ 

[7I = 22 ~ 
7 

A hemispherical tank, full of water, is emptied by a pipe at the rate 

of 
25 

litres per sec. How much time will it take to empty half the 
7 

tank if the diameter of the base of the tank is 3 m ? 

OR 

A drinking glass is in the shape of the frustum of a cone of height 
14 em. The diameters of its two circular ends are 4 em and 2 em. 

Find the capacity of the glass. I_U se n = 22 
] 

7 

33. ~ ~ (fi1f~2t1) Zz c@ ¥1 ~ 8·25 +fl. t I ~ fl q)f 'lWT ~ ~ 
~M"'IICfll\ ~ ~ 31Tm\ q)f '&ffi1 30 +fl. "ff9.IT ~ 5·5 +fl. ~ I ~ CR ~ 3Wm ~ 
C'2l'ltl' q)f ~ ~ ~ ~ 31b'11~fy\"1 * I ~ R t€f ~ if ~ 1·5 !ft. ~ ~ 
~c@~~~~ 

A military tent of height 8·25 m is in the form of a right circular 
cylinder of base diameter 30 m and height 5·5 m surmounted by a 
right circular cone of same base radius. Find the length of the canvas 
use in making the tent, if the breadth of the canvas is 1·5 m. 

34. ~ 60 +fl. ~ ~it ftmR * ~ ~-~ it ftmR '\"1'~ ~ it ~ (f4T 

~ q;lur ~ 30° ~ 600 ~ I ~ ~ 
(i) ~-~ '\"1'~ ~ c@ #i!l~4l if 3f.i'R I 

(ii) ~-~ '\"1'~ ~ it ~ c@ ~ I 

The angles of elevation and depression of the top and bottom of a 

light-house from the top of a 60 m high building are 30° and 60° 
respectively. Find 
(i) the difference between the heights of the light-house and the 

building. 

(ii) the distance between the light-house and the building. 
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